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' =9y'+9y=0 (3) 2y"=3y"+y=0 (2) 6" =y —y=0 (N)
T =6y"+9y=0 (1) 9y +6y'+y=0 (n) ' =2y'=2y=0 (7)
TS5y 48y =0 (0) ' =4y +8y=0 (n) A6y"+24y" + 9y =0 (1)

1 758w PN
W6y = =y =0 (N)

"2. "I
y=ce? +c0,e

6k —k=1=0, D=25>0, =%, ky =-

W | =

2y"=3y'+v=0 ()
2k =3k+1=0, D=1>0, k, =1, k, =;-. y=ce' "L'Jel}‘.

AT =9y "4+ 9y =0 (a)
9435 9-35
2

k* =9 +9=0, D=45>0, k, =

W2 93512
y=c " 4 e8! SR

=2y =2y=0 (7)
kP -2k-2=0,D=12>0,k =143, k, =1-43, y=c,e™"" 4 e ",

VOV +6y +v=0 (0)
%’ +6k+1=0,D=0,k =k, ==1/3, y=e """ (¢, +¢;x).

V=60 +9y =0 (1)
k> =6k+9=0,D=0.k =k, =3, v=¢"(c, +¢,x).

63" +24y' +9y =0 (1)
16k +24k+9=0, D=0,k =k, ==3/4, y=¢ ""*(¢, +¢,x).

'},-'—4.‘3'4-8._\-' =10 (n)
k*—4k+8=0,D=-16<0,k=2+2i, a=2,b=2, y=e" (¢, cos 2x +c, sin 2x).

VTS50 +8y =0 (v)
k®+5k+8=0,D==7<0,k==5/2+iN7/2. a=-5/2.b=7/2,

y=e 3" (c, cos(vTx/2) + ¢, sin(vTx/2)).
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.y=(C, +C,x)e* (2) yy=Ce* +C,e™ (a) ,y=C, cosx+C,sinx (X)
2 75w 11Ns
yv=C,cosx+C,sinx (X)
a=0,b=1Lk=%i, k’+1=0, y"+y=0,

v=Ce' +Ce " (3)
ko =Lk ==1k’=1=0,y"-y=0.

=(C, +C,x)e" ()
ki=ky=Lk*-2k+1=0, y"-2y'+y=0.
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V' =2y =3y==-3xe " (Q) Y =2y =3y =3e* (K)
V'+2y'+y=2e (7) , " +2y"'=3+4sinx (1)

3 758w np
=2y =3y =3¢ (X)
}’n - 2)" = 3}', = 3()2.\‘ .

y"—-2y' -3y =0, (-3) y, = Ae™,
k*—2k-3=0, (-2) ¥, =24e™,

k=3, k== (1) v} =44e™,
yy=e", yy=e, (1) —34—4A4+4A4=3,
y, =ce” +ce”, A=-1,

X

3 o 2
y=y,+y,=ce’ +ce" —e”



V' =2y"'=3y==-3xe™* (2)

(-3) y, =(Ax* + Bx)e™,
(-2) ), =(-Ax* —Bx+24x+B)e™,
(1) ¥}, =(Ax* + Bx—44x—2B+2A)e™,

(x?) =34+2A4+ A=0,
(x) =3B+2B—-44+B—-44=-3,

(1) —2B-2B+24=0,

4=%. ==Y,

RN — 13.\' < 3 2 3 e
y=y,+y,=ce +(c2+/8x +A6x)c :

y'+2y'=3+4sinx,

¥y +2y"=0,

k* +2k =0,

k =0, k=-2,
y=1, yy=e®

-2x
Y =6 +C2€ N

2

V' + 2y =3+4sinx ()

(0) Y, = Ax + Bcos x + Csin x,
(2) ¥y, =A—Bsinx+Ccosx,
(1) ) =—Bcosx—Csinx,
(cosx) 2C-B =0,
(sinx) —2B-C =4,
(x) 0=0,

(1) 24=3,

A=%). B=-35.C==,

y=y,+y,=¢ +ce +Ax 5 cos x — /e sinx.



T2y +y=2e" (7)

y'+2y' +y=2e™,

V' +2y'+y=0, (1) y, = Axle™,
k* +2k+1=0, (2) ¥, =(—Ax*+24x)e™,
k =k, =1, (1) ) =(Ax* —44x+24)e™",
P = Yy =Xe, (x*) A=24+A=0,
¥, =(c; +c;x)e™, (x) 44-44=0,
(1) 24=2,
A=1,

y=y,+y,=(¢ +czx+x2)e".
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W -y =2y=e'cosx—x*+x () '+ y=sinx+xcosx +3e' (N)

V= y=e'—T+cosx (7) V' =4y + 5y =¢" +xsin3x—cos3x (2)

=2y +y=xe ' —x’e' =2e"sinx+3 ()

4 T9RY 11902
, '+ y=sinx+xcosx+3e" (X)

V'+ y=sinx+xcosx+3e”,

y'+y=0,

k*+1=0, v, = (Ax® + Bx)cos x +(Cx’ + Dx)sinx + Ee",
k, =i k,=—i,a=0,b=1,

¥V, =C,COSX +¢, Sinx,



=y =2y=e"cosx—x’+x (3)

y'—y' =2y=e*cosx—x* +x,

y'=y'=2y=0,
k*—k-2=0, Yy =e"(Acos x + Bsinx) +Cx* + Dx+ E,
k, =2, k, =-1,

V" =4y +5y =¢" +xsin3x —cos3x (2)
y'—4y'+5y= e’ +xsin3x —cos 3x,

y'—4y'+5y=0,

k*—4k+5=0, y, = Ae™ +(Bx + C)cos 3x + (Dx+ E)sin3x,
k,=2+i,k,=2-i,a=2,b=1

v, =€ (¢, cos x +c, sinx),

V' '—y=e"—T+cosx (T)

y'—y=e"-T+cosx,
y'-y=0,
k*=1=0,k =1k, =—1,

¥y, =ce +ce, Y, = Axe* + B+ Ccos x+ Dsin x.
Y =2y +y=xe* —x’e* —2¢*sinx+3 (n)

Y =2y +y=xe" —x’e" —2e*sinx+3,
y'=2y'+y=0,

K =2k +1=0,k =k, =1,

¥y, =€ (¢, +¢,x)

v, =(Ax+B)e ™ +(Cx* + Dx+ E)x’e” +e"(Fcosx+Gsinx) + H.



